(70-0045 )

(43-0044)>—_
(43-0035

(700TT2>_

[ H 4 (70-0040 ) (70-0138)
Ly (35-0004 )
SNY (10-0220>

(10-0243)

(440196 <

(70-0047 >~
(43-0036 -
(43-0041 >
(T00Z16)~_

(OO~

(440195
(100102~ >

CPWMA-0012)(10-0249)

s %\\ % e
( 39-0050_‘--",-&  /\I . N R

(3220014
(10-0237 > a ] _ _ 2 f_'43-‘OO‘40_7
CIOOAR = a5 P (10-0102)

(32-0051)

(41-0015)

(10-0231)

\\ |

, 10-0258)

~(10-0257)
Y (34-0003)
~(35-0004)
—~(39-004%)

~(32-0052)

(350001

(10-0395>
~10-0218>

\(10-0208)

(/0-0072

—(10-0304>
(70-0035>

(PWMA-0008)

. €. Ex ex. inkl.
PWM600MLiI| BATTERY-POWERED PERIMETER WIRE MACHINE moms moms moms
10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN 0,90 € 11,07 kr 13,84 kr
10-0206 STEEL FRAME - 600MH 184,00 €| 2 263,20 kr| 2 829,00 kr
10-0216 WHEEL CENTER HUB - 600MH 30,00 €| 369,00kr| 461,25kr
10-0218 DISTANCE ROD BLOCK - 600MH 28,00 €| 344,40kr| 430,50 kr
10-0220 RUBBER DAMPER - 600MH 12,00€| 147,60 kr 184,50 kr
10-0231 SPOOL CENTER HUB - 600MH 10,00 €| 123,00 kr 153,75 kr
10-0237 PULLEY TYPE J 100 MM - SHAFT 15 MM - 600MH 39,00€| 479,70kr| 599,63 kr
10-0242 BLADE PULLEY COVER - 600MH 19,00 €| 233,70kr| 292,13 kr
10-0243 BELT COVER - 600MH 33,00€| 405,90kr| 507,38 kr
10-0249 WIRE GUIDE PIN 12,00€| 147,60 kr 184,50 kr
10-0257 SHORT PLASTIC SPACER - 600MH 18,00 €| 221,40kr| 276,75 kr
10-0258 LONG PLASTIC SPACER - 600MH 15,00 €| 184,50kr| 230,63 kr
10-0304 SLIDING FOOT - 600MH 34,00€| 418,20kr| 522,75 kr
10-0348 THREADED ROD M12 19,00 €| 233,70kr| 292,13 kr
10-0349 SPOOL SIDE ARM - 600MH 20,00€| 246,00kr| 307,50 kr
10-0395 FIBER GLASS DISTANCE ROD 5/16" X 19" 6,60 € 81,18 kr 101,48 kr




32-0014 REAMER BOLT M6-1,0 X 23 - BLACK 17,00 € 209,10 kr 261,38 kr
32-0032 SHCS M4-0.70 X 20 MM - BLACK 0,50 € 6,15 kr 7,69 kr
32-0051 SHCS M6-1.0 X 16 MM - ZN 0,30 € 3,69 kr 4,61 kr
32-0052 SHCS M6-1.0 X 35 - ZN 0,70 € 8,61 kr 10,76 kr
34-0003 NUT M12-1,75 NYLON - ZN 6,00 € 73,80 kr 92,25 kr
35-0001 INTERNAL TOOTH LOCK WASHER 1/4 - ZN 0,10 € 1,23 kr 1,54 kr
35-0004 FLAT WASHER 1/2 - ZN 0,40 € 4,92 kr 6,15 kr
39-0049 WING SCREW PLASTIC M6-1.0 X 10 MM 3,40 € 41,82 kr 52,28 kr
39-0050 COILED SPRING PIN 4 MM X 24 MM 1,30 € 15,99 kr 19,99 kr
41-0015 TRACTION CABLE - 600MH 21,00 € 258,30 kr 322,88 kr
43-0034 KEY 1/4X1/4 X1 1,00 € 12,30 kr 15,38 kr
43-0035 BELT MICRO-V 220-J - 8 GROOVES 24,00 € 295,20 kr 369,00 kr
43-0036 VERTICAL MOUNT PLASTIC BEARING IGUS EFOM-12 13,00 € 159,90 kr 199,88 kr
43-0040 KEY5 MM X5 MM X 25 MM 1,10 € 13,53 kr 16,91 kr
43-0041 PLASTIC THRUST WASHER 0,50 € 6,15 kr 7,69 kr
43-0044 BELT MICRO-V 190-J - 8 GROOVES 22,00 € 270,60 kr 338,25 kr
44-0195 TIRE ON RIM WITH INNER TUBE 4,10" X 10" RIGHT 63,00 € 774,90 kr 968,63 kr
44-0196 TIRE ON RIM WITH INNER TUBE 4,10" X 10" LEFT 63,00 € 774,90 kr 968,63 kr
70-0035 BLADE TRANSMISSION ASS'Y - 600MH 428,00 €| 5264,40 kr| 6 580,50 kr
70-0040 ARCH ASS'Y - 600MH 395,00 €| 4 858,50kr| 6073,13 kr
70-0045 INTERMEDIATE SHAFT ASS'Y - 600MH 150,00 €| 1845,00 kr[ 2 306,25 kr
70-0047 WHEEL TRANSMISSION ASS'Y - 600MH 330,00 €| 4 059,00 kr| 5073,75 kr
70-0072 KICKSTAND ASSEMBLY - 600MH 31,00 € 381,30 kr 476,63 kr
70-0112 600MH - ELECTRIC POWER HEAD 1.0kW ASSEMBLY 534,00 €| 6568,20 kr| 8 210,25 kr
10-0431 BATTERY COVER WITH SPRING AND PIN 7,00 € 86,10 kr 107,63 kr
70-0136 EIGHT LOBED KNOBS WITH LOCKING SCREW 17,00 € 209,10 kr 261,38 kr
PWMA-0007 |Heavy duty carbide blade for 6mm wier 65,00 €[ 799,50 kr 999,38 kr
PWMA-0008 |Reverible blade for 4mm wier 100,00 €| 1 230,00 kr[ 1537,50 kr
PWMA-0012 |6 mm Wire guide assy 65,00 €[ 799,50 kr 999,38 kr




